
D 

2. 

3. 

DD 

(C) Solar power station 

V 

In which generating station steam energy is converted into electrical energy is 
(A) Hydro-electric power station 

(A) (1-x°)x 100 (B) 

(A) (1-x°)x100 (B) 

(A) S5 

(A) 3opÕ&S SOC) 
(B) So3OMS SOON 

If x = V. RS where V and V, are respective sending end and receiving end 
-):10 

(B) ses 

(B) Conventional sources 
(A) Non-convenitional sources 

(A) 67.9 % 

PART --A 

SSOcK 95 MW as SsUaO 

(A) 67.9 % 

|4 

(B) 335 ága i5 

Nuclear energy and Tidal çnergy are examples of 

(B) 86.7% 

|x100 C) )(1-x)x 100 

Wind power station 
D) Nuclear power station 

(C) (1-x) x 100 (D) 

The device locates the fault on the system and isolate the faulty part from the 
healthy section in a power system network is 
A)Switchgear (B) Isolator 

(B) 86.7 % 

(C) 5-er& 

Ceonventional and Non-conventional sources respectively 
(D) Non-Conventional and Conventional sources respectively 

-3 

(C) Bus-bar 

(C) 68.4 % 

101213- 2023 

(D) 

(D) 

(C) 68.4 % 

XIoo 

Ve 

If minimum Joad, average load and 

100 

g8 

(D) Transformer 

(D) 78.9 % 

100 

(D) 78.9 % 

75 MW 

K 

voltages of a short transmission system, then percentage voltage regulation is 
given as 

maximum load of a power plant in a day 
are 65 MW, 75 MW and 95 MW respectively, then Load factor is 



8. 

7. 

6. 

(A) 
(B) 
(C) 0303 S 

Choose a w Wrong statement on charging methods of battery (A) Efficiency is higher in constant current charging (B) Charging time is lesser in constant current charging (C) Eficiency is lower in constant voltage charging (D) Charging time is lesser in constant voltage charging 

(B) &35 58).: 

Keeping a battery in 

(A) 0V 

öseSSSJososod. 

(Á) full charging circuit cause continuous leakage (B) open circuited condition cause gassing problem C trickle charge condition increase its life 
(D) trickle charge condition decreases its life 
100 3e~ye sOw 2 wb/sec. Sy3ONSEK) 5j Soa 3bada, y SSS e.m.f. 

(B) 200 V 

(B) orOS 3OtoT Goia 

always 
Dlinear in all regions 

If a coil of 100 turns is linked with a fiux increasing at a rate of 2 wb/sec. then the induced e.m.f. per turn is 
(A) O V B) 200 V 

B) 
non-linear in all regions 

(C) 2 V 

-4 

(C) 2 V 

The relation between magnetic flux density B' and magnetizing force H' is 

(D) 4 V 

B u= B 

C) linear between unsaturation and saturation regions 

non-linear between unsaturation and saturation regions 

101213-2 

(D) 4 V 

K 



10. Jeöo (retentivity) �wa), ardeS 

D 

A) Wb/m? 
The unit of retentivity is 
(A) Wb/m2 

(A) sOso 3oSI8 

(C) oâ SSosoS 

(B) A/m2 

(A) increase power factor 

(C) decrease copper loss 

(B) A/m2 

Damper winding in synchronous machine is used to 

TA)Supply phase sequence 
(C) Decreasing the field current 

(b) 

(a)JoBardsess 

(c) 

(A) (a) - (i); (b) - (ii); (c) -() 

(C) (a) - (ii); (b) - (i); (c) - (ii) 

(a) 
(b) 
(c) 

The direction of rotation of a synchronous motor can be reversed by reversing the 

Induction. 
Electro-dynamometer 

Moving Iron 

(A) (a) - (i); (b) - (i); (c) - () 

(C) (a) - (i); (b) - (i); (c) - (ii) 

(i) 

-a ii 

(C) A/m 

(C) A/m 

(i) 
Hii) 

(B) Seáo (oeloñ) 3QoDosas 
(D) o SsFosa38 

(B) prevent hunting 

Match the following type of meters with type of measurements. 

(D) decrease iron loss 

(B) söoes) BoScoIS 

(D 

DC STSi 

(ii1) DC s8c AC 

101213- 2023 

(D) Wb/m 

(B) Increasing the field current 
Resistance in the rotor winding 

AC Sso 

(D) Wb/m 

(B) (a) - (ii); (b) - (): (c) - (üi) 

DC only 

(D) (a) - (ii); (b) � (ü); (c) - (i) 

AC only 
iii) DC and AC 

-5 

(B) (a) - (i); (b) - (i); (c) - (ii) 

(Da)- (iiü); (b) - (i); (c) -(ii) 
K 

(D) Ses6 3odoh6 seS 



D 

14. 

(A) T, «I (C) T, « /'/2 
I T, is defiecting torque, 0 is angle of deflection and Moving Iron meter 

18. 

(A) T, I 

(A) 1.143 (B) 175 
DAD If the total flux emitted by a 200 V, per watt. 

(A) 1.143 

(A) eso`o, SSo`o 

15. 200V, 1 A Õo g JaKOig 3uo 5, 2200 r3oy6 swB, B JUSS MSCP 

(C) 3os, so`O 

(B) T, « 

(C) zero, infinite 

(B) T,«8 

(A) infinite, infnite 

(A) 220/ V2 v 

(A) 220/ 2 v 

(A) 36° 

175 uX 

(C) T, « .'/2 

(B) 220 2 v 

(B) 144° 

During reverse bias, an ideal rectifier diode offer D ideal zener diode offer resistance in their normal operating modes. 
resistànce and an 

(C) 0.875 

(B) 144o 

(B) infinite, zerQ 
(D) zero, zero 

1 A lamp is 2200 lumens, find MSCP 

(B) 220W2 v 
The average output of a full-wave rectifier is 140 V. Then value of average input 
voltage over one cycle is 

101213- 202 

(C) 0.875 2200 (D) 35O 

(C) 220 V 

(D) T, « e2 

(C) 220 V 

I is current, then in. 

(C) 54° 

(D) 350 

(C) 54° 

-6 

B. 

(D) 3 

A single SCR connected between 1- AC _ource and resistive load is triggered 
at an angle of /5 radians. Then, conduction angle in one cycle is A)36° 

((D) Zero 

1 

(D) 324° 

(D) 324o 

K 



19, LC Ñsb egoa rgi ärdodoicrOs 250 mH 3o 0cos 1 uF 3se6 
(A) 200 Hz 

(C) 2000 rad/sec. 

a)200 Hz 

DD 

D 

20. esoosoQr 305 BJT `S S03ioa ? 

(C) 2000 rad/sec. 

An inductance of 250 mH and a capacitor of 1 uF are connected together in 
parallel to create an LC oscillator tank circuit. Calculate the frequency of 
oscillation. 

Active region only 
(C) Saturation region only 

(A) So 

A BJT acting as an amplifier will operate in 

(C) 2 V soð SS 

(A) zero 

(B) 2000 Hz 

(C) less than 2 V 

(D) 200 rad/sec. 

(B) 2000 Hz 

21. 230V DC speS ENÖeS5 �us,a3SKOse5 Sas Jeso `KO �IE ÎNoS 2 V SÐeS 

(A) increasing supply frequency 

(D) 200 rad/sec. 

(C) decreasing field current 

3s0 

(B) ae5-e oðo SPS© 
(D) ao�Sô 

(B) Cut-off region only 

(B) 2V aoð JS 

The open circuit voltage of a 230 V DC shunt generator running at rated speed 

without any excitation 

22. DC arrE Se ceo Sr Je sosSy ? 

(D) Saturation and Cut-off regions 

(D) 2 V 33FSO 

101213-2023 

(B) 

(D) 

Se5-eso`oes 

more than 2 V 

equal to 2 V 

fe 

(B) 30¡ Sa 

Speed of a separately excited DC motor can be increased by 

SAoKGO 
(D) Sõoes 3osáo oo 

1323 2 

(B) decreasing supply voltage 2994S 

(D) increasing field current 

K 

is 2 V. Ifit is run with no)èxcitation at nore than rated 

speed then the open circuit voltage is 



D 

A Transformer is a device that 

25. 

(A) Transfers active power from one circuit to another without losses B) Step up or Step down the voltage without a change in current (C) Step up or Step down the current without a change in voltage DWTransfers apparent power from one circuit to another 24. 200 s SeKjeU SOoo 70.7 mWb xO 5 Soo s•RS 50 Hz, 1-0, (eroQ 
(A) 4.00 kV 

Calculate 

(A) 4.00 kV 

(A) 0.75 

(B) 3.14 kV 

(A) 0.75 

peak induced e.m.f. of a 50 Hz, 1-¢ transformer having 200 primary turns and a maximumn flux density of 70.7 mWb. Ps 2 N;s 2 (B) 3.14 kV 

(B))0.625 

(C)2.83 kV. 

(A) inverse of voltage 

2 

(C) 2.83 kV 

(C) square root of voltage 

(C) 1.6 If ratio of copper loss to iron loss of a l-¢ transformer is 0.9 at full-load,, then the samefatio at full-load is 
(B) 0.625 (C) 1.6 

101213- 20 

(D) 4.44 kV 

(B) S ds, soo 
(D) Se 

F4yy*fox 200 

(D) 4.44 kV 

rAm 

(B) square of voltage (D) voltage 

(D) 1.33 

In Electrostatic instrument the deffection angle is directly proportional to 

(D) 1.33 

max 

ma| 



27. SS 

(A) Jeñ So) 

28. JSao SIO S%oss 

D 

The candle power of a lamp is 100. Two plane surfaces are placed at a distance 
of 2 m and 4 m away from a source of lamp. The illumination on the second 
surface compared with first surface is 

(A) One-fourth 

In a sodium vapour lamp 

(B) Jss Ja 

(A) 35S 

(B) Four times 

(A) Capacitor is connected in series with high leakage reactance transformer 

(B) Capacitor is connected in parallel with high leakage reactance transformer 
Capacitor is connected in series with low leakage reactance transformer 

Capacitor is connected in parallel with low leakage reactance transformer 

(B) s3se 

(A) Vy = 230 Z120° V sd 

(B) V,,= 230 Z-120° V sOo 

The purpose of surge tank is to protect 
ADpenstock (B) dam 

(C) V, = 230 Z120° V SOat 

(D) V, = 230 Z-120° V SSO 

(B) V 

R 

(D) Vy 

30. 33Øeg 3-0, 4-35 AC bS6, Sasso RYB. R ous, S V, = 230 0° V sawsS 

B 

(C) ses8 

V, = 230 Z120° V 

= 230 Z-120º V and V 

= 230 Z-120o V and 

(A) V, = 230 Z120° V and V = 230 

(C) One-half Eoyl (D) )Twice 

V, = 230 Z-120° V 
B 

(C) 5 

V, = 230 -120°V 
B 

B 

(C) turbine 

V, = 230 Z120° V 
B 

V. 

In a balanced 3-0, 4-wire AC system, the phase sequence is RYB. If the voltage 

B 

of R phase V = 230 Z 0° V, then the voltage of Y phase and B phase are 

101213- 2023 

(D) Goo`w 

= 230 Z120° V and V, = 230 -120° V 

120° V 

= 230 -120° V 

2-2 

= 230 2120o V 

-9 

(D) gssQ 

(D) alternator 

i Wg23-l24o K 

3 
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20 

tA) (1/3)Q 

322 

A 

SNOSSoo ? 

A 

D 

If each of the six resistances shown in delta connection has a resistance of 

(C) (1/2) 2 

323 

D 

1 s2, find the corresponding each resistance in star connection 

32. ,de, B Soa D ode So +10 V wawð, 3 2SOcKD 4 Q oo TSw Jo` ? 29 

(A) 2.5 A Sôw 2 A S6 

342 

(C) 2 A S8ow 2 A S&Kr 

2Q 

(B) (1/6) 2 

(B) (1/6) 2 

B 

S42 

If the voltage across the terminalsB and D is +10 V, the currents through 
(and 4 Q are 

2 

2-2 

(A) 2.5 A and 2 A respectively (C) 2 A and 2 A respectively 

(C) (1/2) 2 

-10 

2 

(D) (1/12) Q 

(D) (1/12) Q 

(B))2 A Sodos 2.5 A SaST 

101213 

(D) 3.33 A s0a 2.5 A SaSY 

Iyr 2 X 

V=R 

(B) 2 A and 2.5 A respectively (D) 3.33 A and 2.5 A respectively 
D 

2 
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20 

tA) (1/3)2 

32 

A 

A 

D 

D 

If each of the six resistances shown in delta connection has a resistance -

328 

22 

1/3) 2 

1 2, find the corresponding each resistance in star connection 

32. 30Ã, B 30as D wode So +10 V wawð, 3 2S00 4 2 ooJSe Joð ? 29 

(A) 2.5 A SSOow 2 A SoN 
(C) 2 A SSw 2 A SoKr 

(B) (1/6) 2 

42 

22 

(B) (1/6) 9 

342 

22 

(C) (1/2) 2 

(A) 2.5 A and 2 A respectively 
(C) 2 A and 2 A respectively 

X 

If the voltage across the terminals B and D is +10 V, the currents through ( and 4 2 are 

(C) (1/2) 2 

-10 

(1) 

B/2A: 

(D) (1/12) Q 

101213. 

(D) (1/12) Q 

SdcKo 2.5 A 3Oár 

2-2 X 

2 

(D) 3.33 A SS 2.5 A soSTY 

a 

VeR 

(B) 2 A and 2.5 A respectively (D) 3.33 A and 2.5 A respectively 

) 

yty 



Tyr 2 X 

D 

22 

-10 

(C) 

2 A 
and 

2 A 
respectively 

(A) 
2.5 

A 
and 

2 
A 

respectively 

(D) 

3.33 

A 
and 

2.5 

A 
respectively 

(B) 

2 
A 

and 

2.5 

A 
respectively 

D 

JC 

2 

32 

342 

22 

V=LR 

A 

( 
and 

4 
2 

are 

-If the 
(C) 

2 
A 

Sô 

2 
A 

30ó 

(D) 

3.33 

A 
S0 

2.5 

A 
SOUST 

(A) 

2.5 

A 
3ôT 

2 
A 

3o 

A(B)/2 

A 
SOco 

2.5 

A 
300áN 

D 
32 

342 

A 

ZB 

32. 

30,dÃy 

B 
3Ô) 

D eobe 

So 

+10 
V 

ewB, 

3 
2 

S3ôs 

4 
2 

oJS 

Jo` 

? 

(B) (1/6) 2 

(C) (1/2)2 

(D) (1/12) S2 

3 

1 
2, 

find 

the 

corresponding 

each 

resistance 

in 
star 

connection 

If 
each 

of 
the 

six 
resistances 

shown 

in 
delta 

connection 

has 

a 
resistance 

of 

tA) (1/3) 2 

(B) (1/6) 2 

(C) (1/2) 2 

(D) (1/12) 2 
101213 -2022 

voltage across 

the 

terminals 

B and 

D 
is 

+10 

V, 
the 

currents 

through 

3 2 
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(D) 
only 

when 

copper 

loss 

> 
constant 

loss 

(CJonty 

when 

copper 

loss 

< 
constant 

loss 

(B) 
when 

copper 

loss 

<constant 

loss 

and 

copper 

loss 

> 
constant 

loss 

28 

DED 

(A) 
when 

copper 

loss 

= 
constant 

loss 

The 

efficiency 

of 
a 

1-¢ 

transformer 

is/not)maximum 

36. 
1-

ero 

os,o 

Jycás 

Kogor 

iociáo 

? 

R-f! 

(A) 0.5R 

(B) 2R 

(C) 1.414R 

(D) 0.707R 

L 

resi[tance 

R'will 

be 
changed 

to 

If 
length 

L' 
of 
a 

conductor 

andits 

radius 

rËncreased_by 

41.4%, 

then 

its 

(A) 0.5R 

(B) 2R 

(C) 1.414R 

(D) 0.707R 

35. 

aoa 

�s, 

L 
3ôcw 

od 

go 
't41.4% 

30a, 

o 
JEpso 

R' 

D 
Length 

of 
earth 

pin 
is 

more 

than 

the 
length 

of 
neutral 

pin 

D. 

(C) 
Length 

of 
neutral 

pin 

is 
less 

than the 

Choose 

the 

correct 

choice 

of 
a 

3/pin 

plug 

2 

34. 

3-3s 

Si 
as 

3obs 

JoSS 

Jossoc. 

(B) 202.5 2 

What 

is 
the 

equivalent 

resistarnce 

when 

five 

of 
them 

are 
connected 

in 
series 

? 

(C) )10 

Nine 

equal 

resistances 

connected 

in 
parallel 

has 

an 

(A) 40.5 2 

(D) 2 2 

(A) 40.5 Q 

(B) 202.5 2 

(C) 10 2 

(D) 2 2 
101213-2023 

length 

of 
live 

pin 

D0 

(B) 

Diameter 

of 
earth 

pin 

is 
less 

than 

the 

diameter 

of 
neutral pin 

(A) 
Diameter 

of 
live 

pin 

is 
more 

than 

the 

diameter 

of 
earth 

pin 

equivalent 

resistance 

of 
(2/9) 

2. 
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(D) 

CT 
is 

not 

damaged, 

but 

PT 
is 

damaged 

(C) 

CTis 

damaged, 

but 

PT 
is 

not 

damaged 

(B) 

Both 

CT 
and 

PT 
are 

damaged 

(A)) 
Both 

CT 
and 

PT 

and 

PT 

are 

not 

damaged 

short 

circuited 

and 

PT 
is 

open 

circuited 

on 
their 

secondaries, 

then 

Current 

Transformer 

(CT) 

and 

Potential 

Transformer 

(PT), 

If 
accidentally 

An 

ammeter 

and 

voltmeter 

are 

connected 

to 
respective 

secondary 

windings 

(D) 

CT 

sowSoo 

s 
PT 

jáO 

(C) CT (B) 

CT 

&O 

PT 
BOaJ 

(A) 

CT 

SsOOS 

PT 

3o& 

`O& 

s 
PT 

JaKo 

Tow o 

(A) -2 

(B) 2 

(C) I 

(D) I, -1 

DEO 

current is the 

current 

flowing 

in 
the 

secondary 

winding 

in 
the 

opposite 

direction 

of 
primany 

T 
l, 

and 

I, 
are 

primary 

current 

and 

load 

current 

of 
1-) 

auto-transformer, 

the 

(A) 

(B) 

() I-I, 

(D/,-, 
101213 -2023 
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(C) 
Joule, 

Joule 

respectively 

D0 

(D) 

Joule, 

Watt 

respectively 

(A) 
Watt, 

Joule 

respectively 

(B) 

Watt, 

Watt 

respectively 

What 

are 
units 

of 
the 

following 

?I';cV² 
2 

2 

en 

(C) 

, 

6 SOST 

(B) , S 

2 

2 1 

KA) 2 Hz 

(B) 62 Hz 

(C) 58 Hz 

(D) 60 Hz 

1160 

rpm. 

What 

is 
the 

frequency 

of 
rotor 

current 

? 

A 
3-0, 

10 
HP, 

230 

V, 
60 

Hz, 

6 
pole 

Y 
connected 

induction 

motor 

runs 

at 

(A) 2 Hz 

(B) 62 Hz 

(C) 58 Hz 

(D) 60 Hz 

40. 

3-0, 
10 

HP, 

230 

V, 
60 

Hz, 
6 

S Y 
S5 

Saoacó 

qody5 

(D) 
LV 

winding 

is 
nearer 

to 
core 

in 
L, 

and g 

DA0 

(C) 
HV 

winding 

is 
nearer 

to 
core 

in 
L, 

and 

L 

B) LV 

and L 

are 
two 

limbs 

of 
acore)type 

transformer, 

then 

(D) 
LV 

JocoH 

L, 
SOatos 

L, 
S5 

öNör 

dotoð 

(C) 
HV 

JocoH 

L 
KOa 

L, 
S53 

opör 

doto 

(B) 
LV 

JodoH 

L, 
6SS 

oNoT 

Gotsod 

sOaw 

HV 

Bodoñ 

L, 
S5 

Gpór 

iotvo. 

(A) 
LV 

JodoH 

L, 
5 
S 

onor 

åotuoD 

HV 
3odoñ 

L, 
s%$ 

nor 

diotwoD 

39. L 

101213-2023 

SoST 3JPeTO 

1160 

rpm 

3� 
Bágoa. 

winding is 

nearer 

to 
core 

in, 

and 

HV 
winding 

is 
nearer 

to 
core 

in 
L 

winding 

is 
nearer 

to 
core 

in 
L, 

and 

HV 

winding 

is 
nearer 

to 
core 

in 
L, 
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voltage 

is 

(A) 

(B) 0.889 

(C) 1.422 

D)0.790 

(A) 1.125 

(B) 0.889 

(C) 1.422 

(D) 0.790 

45. 

a 
eesð 

amp-hour 

go 
3dc 

watt-hour 

Jo 

3ÐST 

90% 

SO 

80%. 

(C) 

One 

day 

and 

21 
hours 

(A) 3 hours How 

long 

can 

a 
4.5 

Ah, 

1.5 

V 
flash-light 

battery 

take 

to 
deliver 

100 

mA 
? 

(D) 15 hours (B) 

One 

day 

and 

17 
hours 

44. 

4.5 

Ah, 

1.5 

V 
ã 

3e5 
eeÒ 

100 

mA 

J 
9OostDS 

Joa 

KSboMcJZoS 

? 

15 KoeJe 

(B) 

ea 
Sr 

3oos 

17 
Hoesee 

(C) 

es 

8 
30cos 

21 

KoeJe 

(D) 

(A) 3 noeJes (A) 66.07 MJ (A) 66.07 MJ 

(B) 340.87 MJ (B) 340.87 MJ 

650 

Ah 
sÔnS 

12 
V 

sõ 
rgeô6 

Jedbeos 

Joa 

? 

What 

is 
the 

energy 

stored 

in 
a 

12 
V 

car 

battery 

rated 

at 
650 

Ah? 

(C) 28.08 MJ 

(D) 127.09 MJ (D)) 127.09 MJ 

43. 

(C) 28.08 MJ 

(C) 
1 

=1zR,/(R, 

+ 
R) 

(D) 

=-,R,/(R, 

+ R) 

(A) 
1, 
= 

1R,/(R 

+ 
R 

(B) 
I 

-IR,/ 

(R 
+ 

R) 

R 

VË 

V2 

R 

R2 

by If 
the 

voltage 

sources 

V, 
and 

V, 
are 

short-circuited, 

then 

the 

current 

I, 
is 

given 

(C) 
1, 

=1,R,/(R, 

+ 
R) 

(A) 
1 

=,R,/(R, 

+ 
R) 

(D,--R,/(R, + R) 
B) 

-,R,/(R, 

+ 
R 

R: 

V, 

R1 

R2 

42. 

SoS 

V, 
So 

Vy 

101213 -2028 

1.125 

respectively. 

Then 

the 

ratio 

of 
average 

charging 

voltage 

to 
average 

discharging 

The 

amp-hour 

efficiency 

and 

watt-hour 

efficiency 

of 
a 

battery 

are 

90% 

and 

80% 
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(C) 
(a)-

(v); 
(b)�(ü); 

(c) 
-

(ii) 

<v 

(b) 
-(i); 

(c).-
(1) 

(D) 
(a)-

(tv): 
(b) 
-(vi); 

(c) 
-(iti) 

(8) 
(aiy: 

() 
-fri): 

(c)-
(9 

Dfa 

(vi) Lithium 

Çes 

(v) Nickel (iv) Cobalt 

(c) Dia-magnet (b) Para-magnet (a) 

(iii) Silver (i)Magnesium 

Gold 

(i) 

Choose 

a 
wrong 

match 

of 
the 

DD 

(C) 

(a) 
-

(v); 
(b) 

-
(i); 

(c)-

(ii) 

(D) 

(a) 
-

(iv); 

(b) 
-

(vi); 

(c) 
-

(ii) 

(A) 
(a) 
-

(v); 
(b) 

-
(ii); 

(c) 
-

() 

(B) 

(a) 
-

(iv); 

(b) 
-

(vi); 

(c) 
-
) 

(vi) paO (v) (iv)ser 

(c)áa-eo`o (ii) 3od (b)Jo-ssgáo (a)-eao 

(1)orÑo 

(C) 
616 

x 
10-7 

H/m 

(D) 

154 

x 
10 

H/m 

(A) 
154 

x 
105 

H/m 

(B) 

616 

× 
10° 

H/m 

of a particular Determine the absolute (C) 
616 

x 
10-7 

H/m 

(D) 

154 

x 
10 

H/m 

(A) 
154 

x 
105 

H/m 

(B) 

616 

x 
10° 

H/m 

agawosoa. 

101213-2023 

FerrO-magnet 

following magnets. 

type 

of 
iron 

of 
relative 

permeability 

= 
4900. 

permeability of a 

transformer 

core, 

which 

is 
made 

up 
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K 

D 

(D)_50 

(A) C 

ms 

DRe 

(A) 

100 

ms 

(B) 12.5 ms 

(C) 25 ms 

voltag Find 

DAD 

wave 

rectifier 

with 

resistive 

load 

is 

If 
time 

period 

of 
a 

l-

AC 
input 

voltage 

is 
25 

ms, 

then 

the 

time 

period 

of 
hal 

(A) 9 

(A) 100 ms 

(D) 50 ms 

(B) 12.5 ms 

(C) 25 ms 

56. 220 V 

SJos ? 

51. 

1-¢ 

AC 
g5es 

S 
awa, 

SO 
SysÇÙ 

25 
ms 

awd, 

T5 

SE8 

3^ 
35 

Gsabð 

�os, 

so 

genera (A) 20 its 

(A) Zero S2 

(B) -j1000 2 

(D) 1000 Q 

(C) j1000 2 

A (A) 2C 

capacitor 

connected 

in 
series? 

What 

is 
the 

total 

impedance 

at 
1000 

rad/sec. 

of 
a 

1-H 

inductor 

and 

a 
l pF 

(B) -j1000 2 

(C) j1000 Q 

(D) 1000 2 

510 

55. 1000 r 

50. 

Jos ? 1-H 

zotsQ 

s0c 

1 
pF 

3deS 

BO5S 

s 
Saoesdois 

1000 

rad/sec. 

s 

3wyo 

qosas 

If 
o 

is 
t 

velocity (A) ¢L 

(C) 1.57 rad/sec. 

D0 

(A) 
0.314 

rad/sec. 

(D) 0.16 rad/sec. (E) 

(A) ¢LV 

Soe De 

4 sec. 

54. ¢eJO 

Find 

the 

radian 

frequency 

of 
sinusoidal 

voltage 

that 

have 

the 

time 

period 

of 

20 

(C) 1.57 rad/sec. (A) 0.314 rad/sec. 

(D) 0.16 rad/sec. (B) 3.14 rad/sec. 

DD 

In 
a 

() 
3 

V, 
and 

Ip/ 
V3 

(D) 
V/V3 

and 

J31, 

53. 

(A) 
V3 
V, 

and 

31, 

B 
NN3 

and 
Ip/ 
V3 

line current are the 

same 

lóad 

is 
converted 

to 

3-0_star 

connected 

load, 

the 

phase 

voltage 

and 

V, 
and 

I, 
are 

line 

voltage 

and 

ph¡se 

current 

of 
3-

delta 

connected 

load. 

When 

(C) 
V3 
V, 

SOD 

Ip/ 
N3 

(A) 
V3 

V 
bw 

31, 

(D) 

V/3 

30aw 

J31, 

(B) 
V,/N3 

50w 

I/ 

V3 

If no. 

of 

winding t (C) 4 an CA) 8 anc 
Jo ? 

52. DC boo 

101213 -2023 

ar 
dc s 

3.14 

rad/sec 

four 

h 

of 
the 

m 

(A) 45 (A) 8 Ù (C) 4 SSôC 
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VFt2 

K 

(A) 0.3 

(B) 0.71 

(C) 0.78 

(D) 0.22 

voltage 

and 

16 

A 
current. 

Find 

the 

power 

factor 

of 
a 

1-0 

circuit 

that 

absorbs 

2.5 

kW 

for 

a 
220 

V 
input 

(A) Q.3 

(B) 0.7i 

(C) 0.78 

(D) 0.22 

56. 

220Va53es 

sÙe 

so 

16 
A 

söoes 

S 
o 2.5 

kW 
O 

rooð 

1-030ses 

a,335 S5so 

(A) 200V 

(B) 23O V 

(C) 240 V 

(D) 250 V 

generated 

e.m.f. 

at 
the 

same 

drop 

will 

be 

(A) 200V 

(B) 230 V 

(C) 240 V 

(/250 V 

BLV 

eoesod ? 

55. 

1000 

r.p.m. 

SÁK 

aa 
dc 

ápes 

sdeso 

e.m.f. 

ð 

oDod 

200 

V 
Sô 

(A) ¢LV/A velocity 

of 

conductor, 

then 

induced 

e.m.f. 

is 
given 

by 

If 
¢ 

is 
the 

flux, 

L 

(B) ¢LVA &L 

(C) QLA/V 

(D) ¢LA/V 

(A) ¢LV/A SKo o 0S 

gLV Sne 

(C) ¢LA/V 

B) 22.5 

(C) 1350 

(D)/150o 

of 
the 

machine 

in 
revolutions 

per 

sec. 

is 

In 
a four-pole 

DC 
machine, 

if 

(A) 45 

(B) 22.5 

(C) 1350 

(D) 1500 

53. 
ro 

S DC 
3So, 

O3oe 

ausSgo 

45 
Hz 

eab�, 

oBo 

�ua, 

®o 
RSSO`S 

(C) 
4 

and 

2 
respectively 

A 
8 and 

2 

(D) 

2 
and 

4 
respectively 

(B) 

2 
and 

8 
respectively 

winding 

the 

number 

of 
brushes 

are 

If 
no. 

of 
parallel 

paths 

of 
a 

DC 

machine 

is 
8, 

then 

in 
lap 

winding 

and 

wave 

(C) 
4 

Soôo 

2 
sosT 

(D) 

2 
SOs 

4 
SÐKT 

(A) 

8 Sôw 

2 
SooS 

(B) 

2 
3SOc 

8 
SoKT 

Joð ? 

101213-2023 

its 
armature 

voltage 

drop 

is 
10 
V. 
If 

its 
speed 

increases 

to 
1200 

r.p.m. 

then 

the 

A 
dc 

shunt 

generator 

running 

at 
1000 

r.p.m. 

generates 

an 

e.m.f. 

of 
200Q 

V 
and 

(a510 

V. 
asÑs 

o 
S®o 

1200 

r.p.m. 

3•nd, 

Ô,35 Ss 

S 
GoO 

Baoescð 

e.m.f. 

Joð 

is length of 

conductor, 

A is 
area 

of cross-section 

and V is 

(D) 
OLA²/² 

f 
LXA 

e.m.f. 

JeS 

Joa 

? 

(B) ¢LVA 

frequency 

of flux 

reversals 

is 
45 
Hz 

then 

the 
speed 

respectively 
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P 

K 

NPN 

transistor 

is 
connected 

to 
emitter 

of 
PNP 

transistor 

(C) 

PNP 

transistor 

is 
connected 

to 
base 

of 
NPN 

transistor 

(D) 

PNP 

transistor 

is 
connected 

to 
collector 

of 
NPN 

transistor 

(A) 

PNP 

transistor 

is 
connected 

to 
emitter 

of 
NPN 

transistor 

transistors, 

where 

the 

collector 

of 

A 
Silicon 

Controlled 

Rectifier 

(SCR) 

can 

be 
viewed 

as 
a 

combination 

of 
two 

(D) 
PNP 

(eyg 

NPN 

g 
�oa, 

sag8 

sa 
Bbedod 

36 

(C) PNP 

NPN 

(e× 

Ss 

s 
Sobedoo 

36+ s 

(B) NPN eh (A) PNP (era 

PNP ( NPN e 

�oos, 

áod$ 

saS 
Sabadsa 

�os, 

acods 

sa 
ScbeasO 

(D), Inductive, Capacitive 

36+s 

Reactive, Resistive 

(A) Capacitive, 

Inductive 

(B) Resistive, Reactive 

when 

load 

is 
purely 

Power 

factor 

ofa 

1-¢ 
ac 

circuit 

is 
zero 

when 

load 

is 
purely 

utot" 

(C) 
args, 

GR;S 

(B) 35, Sags (D) goag5, 3SB`5 

36+6 & 

and unity 

(A) 3e35, oc5 

59. 

1-¢ 
ac 

s
es 

a 

,338 (B) 14 W 

(C) 2 W 

(A) 10 W 

(D) 
22 

wrae 

oro 

MA)/10 w Find 

the 

peak 

pOwer. 

(B) 14 W 

The 

instantane 

ous 

power 

absorbed 

bya 

circuit 

is 
p 
= 

6+ 

4 
cos2(2t 

+ 
30°)w. 

(C) 2 W 

(D) 22 W 

58. 

3se 

TSod 

SSE 

p =6+ 

4 
cos2(2t 

+ 
30°)W 

r 
garedo. 

bis 

Mo 

(A) 450 W 

(B) 

1600 

W 

(C) 

900 

W 

(D) 800 W 

(K(AA50 W 

(B) 1600 W 

(C) 900 W 

(D) 800 W 

57. 

25 
Q 

No 
asJSâo 

V 
= 

150 

sin 

377t 

SoN 

SÐR 

GotDOD 

eSawB 

N 
OG 

JOsS 

s 

101213 -202a 

P r 

= \sOXf 

OR 

(B) 
A 

25 
Q 

resistance 

has 

a 
voltagev= 

150 

sin 

377t. 

Find 

the 

power 

dissipated. 
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A) /p 
The 

ratio 

of 
mechanical 

angle 

to 
electrical 

angle 

in 
ap-pole 

alternator 

is 

K 

(B) p/2 

(C) p 

(D) 1/p 

(A) 2/p 

(B) p/2 

(C) P 

(D) 1/p 

(D) 

Reversing 

the 

supply 

connection 

(C) 
Connecting 

the 

diode 

inside 

the 
motor 

winding 

Reyersing 

the 

connections 

of 
stárting 

winding 

HA) 
Reversing 

the 

connections 

of 
both 

starting 

& 
main 

windings 

The 

direction 

of 
rotation 

of 
a 

1-¢ 

motor 

can 

be 
reversed 

by 

(B) 
öop 

Bodoñ 

�os, 

sagSoo 

036, 
Saodo 

64. 

1-¢ 

3rerõ 

aooa, 

SE• 

Gs 

(A) 

1.05 

kW 

(B) 

1.49 

kw 

efficiency 

of 
85% 

and 

0.8 

lagging 

power 

factor. 

Find 

the 

total 

losses. 

(C) 1.12 kW 

(D) 1.31 kw 

(A) 1.05 kW 

(B) 1.49 kw 

(C) 1.12 kW 

(D) 1.31 kW 

63. r 

(C) Cyclo-converter (A Chopper fixed 
AC 

voltage 

with 

variable 

frequency 

is 
called 

as 

A power electronic 

(BDInverter 
D) Full 

URZ 

(A) SS8 

(D) (B) 

Ssggo g 

FO 

Not-loaded & 

over-excited 

Les 

A synchronous 

motor 

can 

be 
used 

as 
a 

synchronous 

capacitor 

when 

it 
is 

101213-2023 

A 
fully 

loaded 

10 
HP 

induction 

motor 

operated 

from 

a 
480 

V, 
50 
Hz 

line 

at 
an 

6% 
Sabecos 

10 
HP 

goc5 

3Fr5 

480 

V, 
50 
Hz 
35 

5o& 

85% 

JFso 

Soc 

circuit for 

AC drive which 

converts_a 

fixed 

voltage 

DC to 

a 

Converter 

(C) 
Under 

loaded 

& 
under-excited 

(B) Over 

loaded & under-excited 

(A) 
Over 

loaded 

& 
not-excited 
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(D) Uranium 

(A) Copper Khetri 

mines 

in 
Rajasthan 

are 

related 

to 
: 

(B) Bauxite 

(C) Iron (C) ado 

(D) dJoo 

(A) oh 

(B) 

(D) Vitamin D 

(A) Vitamin B, 

12 

Mcy Vitamin K 

(B) Vitamin C 

calcium 

in 
the 

human 

body 

? 

Which 

of 
the 

following 

vitamin 

is 
essential 

for 
bone 

formation 

and 

retention 

of 

(D) 3eaS D 

12 

(A) Je× B 

(B) JesaSC 

(C) JeS K O) Johannesburg 

(C) Geneva 

(B) Stockholm 

(A) 
Rio 

de 
Janeiro 

The 

irst 

world 

conference 

on 
the 

environment 

was 

held 

at 
: 

(D) 

e� 

(C) 

(B) 

*5 

(D) 

Kamlesh 

D 
Patel 

(C) Vani Jairam 

(B) 

B. 
M. 
M. 

Keeravani 

(A) 
S. 
L. 

Bhyrappa 

year 2023 ? Who 

among 

the 
following 

is 
NOT 

a 
Padma 

Bhushan' 

awardee 

for 
the 

(C) (A) 
S. 
L. 05 

rS 

(D) (B) 
B. 
M. 
M. 
a6 

88D so 

(C) Kandakurti 

(D) Bijinepalli 

(A) Phanigiri 

(B) Maddi Madugu 

The 

following 

is 
a 

place 

in 
Telangana 

known 

for 
Buddhist 

relics. 

(D) dea30 

(A) dNO 

(B) &s SáoKo 

PART -B 

101213 -2023 
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K 

(D) 
On 

23'" 

September 

and 

21 

March 

(B) On 22nd (C) 
On 

18" 

October 

and 

1gth 

(A) 
On 

26 

February 

January 

June and 28th 

60,o o 

On what 

6o.o0 

(D) 
3zoes× 

23 
S8ao 

S 

21 

(C) 

e× 
18 

58as 

BSSO 

19 

(B) 

5 22 
3ô0s 

J 

28 

(A) 
esO 

26 
3ô0 

e 
22 

300 

6o,0 AS 

(A) 55,500 

(B) 51,000 

The 

present 

population 

is 

DRE 

decreased 

by 
5% 

per 

annum 

in 
first 

year 

and 

10% 

per 

annum 

by 
second 

year. 

DED 

The 

population 

of 
a 

town 

2 
years 

agO 

was 

60,000. 

Due 

to 
migration 

to 
cities, 

it 

(C) 51,300 

(D) 54,150 

(A) 55,500 

(B) 51,000 

(C) 51,300 

(D) 54,150 

(C) 
Jai 

Bharat 

Reddy 

(D) Pranab Mukherjee 

(A) Girglani The 

610 

G.O. 

was 

based 

on 
the 

report 

submitted 

by 
the 

following 

committee 

: 

(B) Bhargava 

(A) Nãng 

(B) s 

(D) 
To 

vent 

just 

for 
play 

(C) 
To 
be 

made 

majority 

shareholders 

in 
the 

company 

B) 
Something 

for 
nothing 

Á) 
To 
be 

heard 

and 

have 

their 

experience 

validated 

Customers 

who 

complain 

want 

(B) S 

101213 -2023 

and 22d July 

April 

days 

do 
we 

have 

equal 

days 

and 

nights 

all 
over 

the 

world 

? 
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(D) Start-up Bihar 

(C) ISc. 

(B) IIT-H 

National Won 

(A) T-Hub Best 

Incubator 

in 
India' 

award 

? 

(D) -s b5 

(C) IISc. 

(B) IT-H 

77. 

` -e 

s 
2022-23 

6 
Boc: 

(D) Diphtheria 

(C) Dyspepsia 

(B) Osteoporosis 

Skin cancers 

inchude Depletion 

of 
the 

oz0ne 

layer 

causes 

damage 

to 
human 

health. 

Negative 

eftect 

(D) oas 

(D) 
Customer 

Relationship 

Management 

(C) 
Communicating 

Random 

Meaning 

(B) 
Can't 

Remember 

Much 

(A) 
Customers 

Rarely 

Matter 

CRM stands for (D) 
Customer 

Relationship 

Management 

(C) 
Communicating 

Random 

Meaning 

(B) 
Can't 

Remember 

Much 

(A) 
Customers 

Rarely 

Matter 

75. CRM so 

-

101213 -202% 

In 
the 

Start-up 

Awards 

2022-23, 

which 

of 
the 

following 

the 
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K 

(C) 17 m² (A) 19 m² 

(D) 21 m² (B) 40 m 

9 

Ct>1m 

area 

of 
the 

path. 

A 
square 

field 

of 
9 
m 

long 

is 
surrounded 

by 
a 

path 

1 m 
wide 

on 
all 

(C) 17 m² 

(D) 21 m² 

(A) 19 m 

(B) 40 m2 

9 

->1m 

80. Di (C) Ganapathideva DAD (A) Mahadeva 

Which 

Kakatiya 

King 

ruled 

(D) Prataparudra-II (B) Prataparudra-I 

(C) Ke3Ods 

(D) G3KS-II 

(A) 3o3Õs 

(B) (o3P-I 

79. 

J sSo 

60 
so3éoO 

JÐoBPor 

doras 

? 

(A) Koshala 

(B) Panchala 

Which 

of 

(D) Magadha 

(A) S°O 

(B) JoJO 

(D) SnG 

78. 

Soð 
JUS 

ojo8 

Joos 

SNSbo'Sa 

? 

101213-2023 

m 

sides. Find 

m 

continuously 

for 
60 

years 

? 

the 

following was 

the 

most 

powerful 

'mahajanapada'? 

(C) Gandhara (C) roo 
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